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QUESTION 1

ABC Enterprise closes its books on March 31st. These activities have been identified to be performed for the closure of
books.

1) post 2) translate 3) review 4) consolidate 5) revalue 6) run accounting reports 7) close accounting period
In which order must these activities be performed?

A.1,3,52/4,6,7

B.5,2,3,1,7,4,6

C.1,5,2,3,4,7,6

D.1,8,2,57,4,6

Correct Answer: A

QUESTION 2
Given the following code:
strArrl = string[l{"1", "2", "3"},

StrArr2 =

return strArr2;

Which one of the following statements, when placed in the blank space, will give strArr2 a value of "123"?
A. join(strArrl, ™)

B. combine(strArrl, ™)

C. join(strArrl, " ")

D. combine(™, strArrl)

Correct Answer: C

QUESTION 3

You are the manufacturing lead for XYZ\\'s implementation of Oracle E-Business Suite Release 12. Your client has
these requirements:

1.
Create a production plan.

2.
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Analyze Sales Order information.

3.

Calculate capacity load ratio by resource or production line.

4,

Analyze resources, materials, costs, and job schedule progress.
Identify the two flows you would implement to accomplish these requirements. (Choose two.)
A. Click to Order

B. Order to Cash

C. Procure to Pay

D. Forecast to Plan

E. Demand to Build

Correct Answer: DE

QUESTION 4

During the cutover phase of a project to implement Oracle E-Business Suite Release 12, you are responsible for
converting historical account balances into Oracle General Ledger from a legacy system. There is no Account Code
Combination setup in the Production Instance.

Identify the setup in the Accounting Key Flexfield structure that is required to perform this conversion.

A. Define Value Sets and assign them to Segments.

B. Define Segments in the Accounting FlexField structure.

C. Qualify one of the Segments as the Balancing Segment.

D. The Key Flexfield Segments have to be enabled and displayed.

E. Select the "Allow Dynamic Inserts" check box in the Accounting Key Flexfield structure.

Correct Answer: E

QUESTION 5
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(TEST_SOB)-Test 02 23-FEB-2006 02:48:45

il TEEt 02 . E Conversion
Pariod Mar-ﬂﬁ Effectrve Dale 31-MAR-2[|UE Curency [NR |
Category  Adjustment Source  Manual Date 31-MAR
Balance Type  Actual Budget Type User
E ®

company |29 = Vision Czech Republic
H Depantment | 402 CEO, Kurt Elkins
Accourt 4519 NSF Fee

sub-sccount | 2403 California ot g
ne /% rroduct | 240 Modern Please, choose an existing !
i combination. »

(058 | _I:ancet I OK _;'

View the Exhibit. While entering a journal in the Journals form, you enter a code combination of 29.402.4519.2103.240
in the five-segment Accounting Flexfield. However, you are unable to proceed after entering this account combination.

What could be the problem in the structure definition of the Accounting Flexfield?
A. The "Freeze Rollup Groups" check box is selected.

B. The "Allow Dynamic Inserts" check box is deselected.

C. The "Freeze Flexfield Definition" check box is selected.

D. The "Cross-Validate Segments" check box is selected.

Correct Answer: B
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